JARRt D Z —RIRERFER

T

=

et e ¥
e

==




JARRE I —RIXRER BEENE

[XZERRAE —HE]

DL=30. 00

ol

DL=30. 00

I/ A
8000
00 3000 3000 1500
¢ E“
eu — —
HH—— — ‘jLDJ RRERIROE
i E
8000
b0(Q 3000 3000 1500
D—'r ‘Ei RIS

it




JARRE I —RIXRER BEENE
[RZER/ERAE FLMEER]

"R

8000

b00Q 3000 3000 1500

DL=30. 00

Ei!
[

10200

ﬁ 5 3000 950 3000 p0Q_ 2000 j t

FH

DL=30. 00

~1.500% _1.500% ﬂ




JARRE I —RIXRER BEENE
[RXZERFEE —A/%ER]

"R

8000
4000 4000

At

L

DL=30. 00

Ei!
[

10250

3000 p00 3000 3000 5

it

DL=30. 00




JARRE I —RIXRER BEENE
[XERTEE FENEER]

"R

8000

4000 4000

it

———

S L

DL=30. 00

EHE
[

13250

3000 p00 3000 3000 3000 )

ol

FH
r} :1.500% 1.500% .
i g apisi

DL=30. 00

———A




JARRE I —RIXRER BEENE
[XZEREAE —H&E]

I/ A
8570
00 3000 3000 500_ 1570
;
2
— ul 5
—‘Jﬁg P
DL=30. 00
E
8820
9 3000 3000 p00_ 1570

=

DL=30. 00




JARRE I —RIXRER BEENE

DL=30. 00

[XZ=RFEAE FREE]

"R
8750
000 3000 3000 p00_ 1750
N
i OE
12250
9 3000 3000 3000 p00_ 2000

FH

It

DL=30. 00




JARRE I —RIXRER BEENE
[ZZERALHE]

"R

1500

i 50Q 3250 3250 500

W

o ] S

DL=30. 00

Ei!
[

1500

i 500 3250 3250 500

3\ L _1.500% 1. 500% . ﬁ /E
¥

DL=30. 00






